
                                                       2015 (A)                      Roll No: ____________ 

INTERMEDIATE PART-II (12
th

 CLASS) 

MATHEMATICS   PAPER-II     TIME ALLOWED: 2.30 Hours 

GROUP-I     SUBJECTIVE  MAXIMUM MARKS: 80 
NOTE: - Write same question number and its part number on answer book,  

                as given in the question paper.                         

  SECTION-I      
2.                 Attempt any eight parts.           8 ×  2 = 16  

(i) Express the perimeter P  of square as a function of its area A . 

(ii) Evaluate  
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(v) Diff. w.r.t  ""x           
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(vi) Find  
dx

dy
  if  5422 =−+ xyx  

(vii) Find  
dx

dy
  if  

θ
θ

1
+=x   and  1+= θy  

(viii) Diff. w.r.t  ""x  :-       xx 4sec2  

(ix) Diff. ( )xxn 22 +l  w.r.t  x  

(x) If  
xexy sin=  then find  
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dy
 

(xi) Find  2y  if  ( )92 −= xny l  

(xii) Write Maclaurin’s Series and Taylor’s Series.  

3.                Attempt any eight parts.           8 ×  2 = 16  

(i)        Evaluate  ∫ −+ xx
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(ii) Find  dx
x∫ + cos1
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(iii) Find  ∫ dxxnx 5.l  

(iv) Find  ∫ dxxSec4  

(v) Evaluate  ∫ +−
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(vi) ∫ 
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
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(vii)  Find   ∫ dxxx cos  

(viii) ( )∫ +
2

1

2 1 dxx  

(ix) Solve  0=+ dyxdxy  

(x) Evaluate  ∫
−

π

π

dxxSin  

(xi) Define a Convex Region.  

(xii) Graph the solution of linear inequality 62 ≤+ yx  
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4.                 Attempt any nine parts.           9 ×  2 = 18  

(i) Find the mid point of line segment joining the points  






 −−
3

1
,5A   and  ( )5,53−B  

(ii) Let  ( ) ( )9,6, −=yxP  and axes are translated through  ( )2.30 −′ .  Find  X   and  Y . 

(iii) Reduce  039125 =+− yx  into two intercepts form. 

(iv) Find the point of intersection of lines  012 =+− yx  and  022 =+− yx  

(v) Find the angle between lines represented by  0273 22 =++ yxyx  

(vi) Write standard form of equation of circle.  

(vii) Find the focus and vertex of  yx 162 −=  

(viii) Find the equation of tangent to the circle  2522 =+ yx  at point  ( )3,4  

(ix) Find the equation of ellipse with foci ( )5,0 ±  and eccentricity = 
5

3
 

(x) Find the vector from point A  to origin where  jiAB 24 −=   and  ( )5,2−=B  

(xi) Find direction cosines of kjiv −−=  

(xii) Find projection of a  along  b   where  kia −=     and   kjb +=  

(xiii) Find  vu ×   when  [ ] [ ]1,2,4;1,1,2 −=−= vu  

 

SECTION-II 

NOTE: -   Attempt any three questions.       3 ×  10 = 30 

5.(a)     Given  ( ) 123 ++−= bxaxxxf  if  ( ) 32 −=f   and  ( ) 01 =−f      

 find the values of  a   and  b .          5 

(b)    Find by definition derivative w.r.t. x    if   ( ) 3
1

4+x       5 

 

 

6.(a)     Evaluate   ∫ dxxCo 3sec           5  

(b)   Find the distance between the lines 0142,052 =−+=−+ yxyx .   

Also find an equation of the line lying midway between them.     5 

  

 

7.  (a)    Evaluate   θ
θ
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           5 

(b) Maximize the function defined by  ( ) yxyxf 32, +=  subject to the constraints  

  0,0,142,82 ≥≥≤+≤+ yxyxyx            5 

 

 

8. (a)     Find an equation of the ellipse with Foci ( )1,0 −  and  ( )5,0 −   and major axis of length 6. 5 

(b)   Prove that in any triangle ABC    ACosbccba 2222 −+=   by vector method.   5 

 

  

9.(a)      Find an equation of the parabola having its focus at the origin and directrix parallel to 

  the −x axis and below the −x axis.         5 

   (b)      Prove  ( ) βαβαβα SinCosCosSinSin −=−        5 

         R.14-2015(A)-                  (MULTAN) 


